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Questions

cos 2a=

sin (a+,B) - sin (a -,B) =

sin (Ol+B) + sin (X-B)

Answers Choice

A. 1 - 2 sin<sup>2</sup><i
style="text-align: center;">a</i>

B. sin <sup>2</sup><i style="text-
align: center;">a</i>+
cos<sup>2</sup><span style="color:
rgb(34, 34, 34); font-family:

&quot; Times New Roman&quot;; font-
size: 24px; text-align: center;
background-color: rgh(255, 255,
248);"><i>B</i></span>

C. sin<sup>2</sup><i style="text-
align: center;">a</i>-
cos<sup>2</sup><span style="font-
family: &quot; Times New
Roman&quot;; font-size: 24px; color:
rgb(34, 34, 34); text-align: center;
background-color: rgh(255, 255,
248);"><i>B</i></span>

D. None of these

A. 4 cos<i style="text-align:
center;">a</i>sin<span style="font-
family: &quot; Times New
Roman&quot;; font-size: 24px; color:
rgb(34, 34, 34); text-align: center;
background-color: rgh(255, 255,
224);"><i>B</i></span>

B. 2 cos<i style="text-align:
center;">a</i>sin<span style="font-
family: &quot;Times New
Roman&quot;; font-size: 24px; color:
rgb(34, 34, 34); text-align: center;
background-color: rgh(255, 255,
224);"><i>B</i></span>

C. 4 cos<i style="text-align:
center;">a</i>cos<span style="font-
family: &quot; Times New
Roman&quot;; font-size: 24px; color:
rgb(34, 34, 34); text-align: center;
background-color: rgh(255, 255,
224);"><i>B</i></span>

D. 4 sin <i style="text-align:
center;">a</i>sin<span style="font-
family: &quot; Times New
Roman&quot;; font-size: 24px; color:
rgb(34, 34, 34); text-align: center;
background-color: rgh(255, 255,
224);"><i>B</i></span>

A. 2 sin<span style="font-family:
&quot; Times New Roman&quot;; font-
size: 24px; color: rgb(34, 34, 34); text-
align: center; background-color:
rgb(255, 255, 224);"><i>a</i>
</span>cos<i style="text-align:
center;">B</i>

B. sin (2<span style="font-family:
&quot; Times New Roman&quot;; font-
size: 24px; color: rgb(34, 34, 34); text-
align: center; background-color:
rgb(255, 255, 224);"><i>a</i></span>
<j style="text-align: center;">p)</i>

C. sin<i style="text-align:
center;">a</i>cos<span style="font-
family: &quot; Times New
Roman&quot;; font-size: 24px; color:
rgb(34, 34, 34); text-align: center;

background-color: rgb(255, 255,
224);"><i>a</i></span>
D. None of these

A. sin<span style="font-family:

&quot; Times New Roman&quot;; font-
size: 24px; color: rgb(34, 34, 34); text-
align: center; background-color:



sin (0 -)=

sin (O +ﬂ) =

B. sin<span style="font-family:

&quot; Times New Roman&quot;; font-
size: 24px; color: rgh(34, 34, 34); text-
align: center; background-color:
rgb(255, 255, 224);"><i>a</i>
</span>cos<i style="text-align:
center;">B</i>+ cos<i style="text-
align: center;">a</i>sin<span
style="font-family: &quot;Times New
Roman&quot;; font-size: 24px; color:
rgb(34, 34, 34); text-align: center;
background-color: rgb(255, 255,
224);"><i>B</i></span>

C. sin<span style="font-family:

&quot; Times New Roman&quot;; font-
size: 24px; color: rgh(34, 34, 34); text-
align: center; background-color:
rgb(255, 255, 224);"><i>a</i>
</span>cos<i style="text-align:
center;">a</i>- cos<i style="text-align:
center;">B</i>sin<span style="font-
family: &quot;Times New
Roman&quot;; font-size: 24px; color:
rgb(34, 34, 34); text-align: center;
background-color: rgb(255, 255,
224);"><i>B</i></span>

D. sin<span style="font-family:

&quot; Times New Roman&quot;; font-
size: 24px; color: rgb(34, 34, 34); text-
align: center; background-color:
rgb(255, 255, 224);"><i>a</i>
</span>cos<i style="text-align:
center;">a</i>- cos<i style="text-align:
center;">B</i>sin<span style="font-
family: &quot; Times New
Roman&quot;; font-size: 24px; color:
rgb(34, 34, 34); text-align: center;
background-color: rgh(255, 255,
224);"><i>B</i></span>

A. sin<span style="color: rgb(34, 34,
34); font-family: &quot;Times New
Roman&quot;; font-size: 24px; text-
align: center; background-color:
rgb(255, 255, 224);"><i>a</i>
</span>cos<span style="color:
rgb(34, 34, 34); font-family:

&quot; Times New Roman&quot;; font-
size: 24px; text-align: center;
background-color: rgb(255, 255,
224);"><i>B</i></span>- cos<span
style="color: rgb(34, 34, 34); font-
family: &quot;Times New
Roman&quot;; font-size: 24px; text-
align: center; background-color:
rgb(255, 255, 224);"><i>a</i>
</span>sin<span style="color: rgb(34,
34, 34); font-family: &quot;Times New
Roman&quot;; font-size: 24px; text-
align: center; background-color:
rgb(255, 255, 224);"><i>B</i></span>



Tan 2(9:

005(9/ 2 =

sinQl =

sin(180° -0) =

C. sin<span style="font-family:

&quot; Times New Roman&quot;; font-
size: 24px; color: rgh(34, 34, 34); text-
align: center; background-color:
rgb(255, 255, 224);"><i>a</i>
</span>cos<i style="text-align:
center;">0</i>- cos<i style="text-align:
center;">B</i>sin<span style="font-
family: &quot;Times New
Roman&quot;; font-size: 24px; color:
rgb(34, 34, 34); text-align: center;
background-color: rgb(255, 255,
224);"><i>B</i></span>

D. sin<span style="font-family:

&quot; Times New Roman&quot;; font-
size: 24px; color: rgb(34, 34, 34); text-
align: center; background-color:
rgb(255, 255, 224);"><i>a</i>
</span>cos<i style="text-align:
center;">a</i>+ cos<i style="text-
align: center;">B</i>sin<span
style="font-family: &quot;Times New
Roman&quot;; font-size: 24px; color:
rgb(34, 34, 34); text-align: center;
background-color: rgh(255, 255,
224);"><i>B</i></span>

A. 2 sin<span style="color: rgb(34,
34, 34); font-family: &quot; Times New
Roman&quot;; font-size: 24px; text-
align: center; background-color:
rgb(255, 255, 224);"><i>a</i>
</span>cos<span style="color:
rgb(34, 34, 34); font-family:

&quot; Times New Roman&quot;; font-
size: 24px; text-align: center;
background-color: rgb(255, 255,
224);"><i>a</i></span>

B. 2 sin<span style="color: rgb(34,
34, 34); font-family: &quot;Times New
Roman&quot;; font-size: 24px; text-
align: center; background-color:
rgb(255, 255, 224);"><i>a</i>
</span>cos<span style="color:
rgb(34, 34, 34); font-family:

&quot; Times New Roman&quot;; font-
size: 24px; text-align: center;
background-color: rgb(255, 255,
224);"><i>B</i></span>

D. 1+ tan<sup>2</sup><i style="text-
align: center;">a</i>/2

B. -cos<span style="color: rgb(34, 34,
34); font-family: &quot;Times New
Roman&quot;; font-size: 24px; text-
align: center; background-color:
rgb(255, 255, 248);"><i>0</i></span>
C. Tan<span style="color: rgb(34, 34,
34); font-family: &quot;Times New
Roman&quot;; font-size: 24pXx; text-
align: center; background-color:
rgb(255, 255, 248);"><i>0</i></span>
D. Sin<span style="color: rgh(34, 34,
34); font-family: &quot; Times New
Roman&quot;; font-size: 24px; text-
align: center; background-color:
rgb(255, 255, 248);"><i>0</i></span>
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cos 200—

Question Image

Tan(0l-f)=
Fundamental law is

Let P(x1, y1) and Q(x2, y2) be two points in the co-ordinate plane. Let d = distance between
Pand Q

Question Image

Tan 3x tan 2x-tan x is equal to

The value of the expression 3 cosB+ 4 sin66lie between

The value of the expression sin6+ cos@lies between
Question Image
Question Image

Question Image
Question Image
The value of sin 28°cos 17°+cos 28°sin 17°is

If sin A =cos A, 0°<A<90° then A'is equal to

The value of sin220° + sin270° is equal to

B. -cos<span style="color: rgb(34, 34,
34); font-family: &quot;Times New
Roman&quot;; font-size: 24px; text-
align: center; background-color:
rgb(255, 255, 224);"><i>0</i></span>
C. tan<span style="color: rgb(34, 34,
34); font-family: &quot;Times New
Roman&quot;; font-size: 24px; text-
align: center; background-color:
rgb(255, 255, 224);"><i>0</i></span>
D. None of these

B. cos<span style="color: rgb(34, 34,
34); font-family: &quot;Times New
Roman&quot;; font-size: 24px; text-
align: center; background-color:
rgb(255, 255, 224);"><i>0</i></span>
C. sin<span style="color: rgb(34, 34,
34); font-family: &quot;Times New
Roman&quot;; font-size: 24px; text-
align: center; background-color:
rgb(255, 255, 224);"><i>0</i></span>
D. -cos<span style="color: rgh(34, 34,
34); font-family: &quot;Times New
Roman&quot;; font-size: 24px; text-
align: center; background-color:
rgb(255, 255, 224);"><i>0</i></span>

A.GP
B. H.P.

D. No particular sequence
B. -tan x tan 2x tan 3x
C. Tan xtan 2x - tan - tan x tan 3x -

tan 2x tan 3x
D. None of these

A -7Tand 7
B. -25 and 25
C.-1and 1

A. 45°

C.75°

1
.12

W >

O

. None of these
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Sin 50°-sin 70°+sin 10° is equal to

Question Image

The maximum value of sin x + cos xis

The maximum value of 12 sin(9—9 sin29is X

The maximum value of 12 sin9-9 sinzeis X

C.1/2
D.2

A. Right angled

C. Isosceles
D. Equilateral

3

.5
. None of these

3

.5
. None of these

gow» TUOowP



